HM-3 / SECTION-A
/ wre feegg wivew © v 19 & an F e e e ?

In domestic electric circuit, with which wire do we connect a fuse ?

}"’J el 1 S At a1 % 8 Ve s1EaEl & AW forad |

MName the two components of central nervous systems in humans.

_‘ﬁ-‘* s o ¥ wam el oM 9 o gvE = I fafad

Name one fuel used in nuclear reactor.

4. » HEH FENEE wofatEn gehe ¥ afufEn w0 waEtes sEose @R afEE
= TR T
(i) 57 SRl 1 9 2 vl 8 aiteha (a1 SFar § 395 T9 fafad |
(i) I R T wyA w5 T TEEtE wieo F w9 fafed
Barium chloride reacts with aluminium sulphate to give, Aluminimum
chloride and Barium sulphate.

(i) State the two types in which the above reaction can be classified
(i) Translate the above statement into a chemical equation.

577 w1 ugsd % T fafed o 9w ¥ TER 9 W $9 T 9% 86 A ¢ SR
Tesd 6 3 T = e €2
Name two metals that start floating after some time when immersed in water
and explain why they doso?
_ﬁ./qalzva%%zﬁaﬁ3ﬂ,4sl,5szea‘n12f1fﬁm%ﬁﬂaﬁ%s&vﬁﬂfmﬁs@m
1 12 O F wiwls & waifed g o H F SiEer S |

A battery of 12 V is connected to a series combination of resistors, 3 0,4 £, 54,
and 12 €. How much current would flow through the 12 (] resistor ?

j/ A TEET 8 Tand U g ® s o 6 R e 2 e |
Why do two magnetic field lines never intersect each other ?
8. ° v 3 fargy oA A 1
@ e ol wie W e A e e A fated )
(ii) T e W UEE T 1 S gEl yeeds W A E W S7ea g
i g &7 38 T = = m fafEd
(i) 39 VER I T e # fEe g S ?
In the electrolysis of water :
(i) Name the gas collected at the cathode and anode respectively
{ii) Why is the volume of one gas collected at one electrode double that at
the other ? Name this gas.
(iiiy ~ How will you test the evolved gases ?
/9./ U Y X %1 9T H G T T W T & O H e o S ¢
(i) o1 X’ 1 TRt @R 5w ufted & Ty Seeerd uhea ol A fafee
(ii) ﬂﬁ%maﬁaﬁ%ﬁw#wﬁaﬂwaﬂtm?ﬁﬁﬁﬁ:
(iii) =0 i F1 3 & fore < e fatemn fafed
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A metal "X acquires a green colour coating onits surface on exposure (o air,

(i) Identify the metal "X" and name the process responsible for this change.
{11} Name and write chemical formula of the green coating formed on the
metal

(i)  List bwo important methods to prevent the process.

()  “SrerEfad @E T IS w6 A § 2 |
(iiy ~ STerElS EV % YR 9 Sow dfee o wWa ¥ eir v uaefe g

ferfaa 1
(i) What is meant by the term hydrated salt ?
(it} Give two examples of hydrated salt which are white and state their

chemical formula.

fivamg (wet) wt aftamn Sifa ) wets 91 35 o1 erien s S T A
1 fefEd | zw qen w1 3faw Soew g AmEEd |

Define alloys ? List the properties of alloys that makes them useful over pure
metals ? Explain this fact with suitable examples.

(i) 1200 W % 2= & g 30 e o sunem fagm Sl = gfiser Sifey |

(i) @< T8 35 ¥HR 1 7E 7 wEn e e st 1 g e m e 4 v A A
Fe & 1 TEeR T

(i) Calculate the electrical energy consumed by a 1200 W toaster in 30
minutes.

(11 What will be the cost of using the same for 1 month if one unit of
clectricity costs Rs 4.

#F: 7 FF fofmd o w o wommn 2 & wfmm BR s 2 =
TR AU TR FE FH WG @’ A e & wfaiy qu 36 wee & #H uig
T S AT W F AAw FO: TE A I Hi STHE S SR Sng
Aret Feieh Tt WAy ST ST T4 FHiad |

State any two factors on which the resistance of a cylindrical conductor
depends. Compare the resistance of a conductor of length ‘I’ and area of cross
section ‘a’ with that of another conductor of same materal but of length and
area of cross section half and double respectively of the former.

1/trﬁqﬁmﬁh-ﬁaﬁa%? T yrEEt gl & =il o gty 8 e

g0 fom ) ol o & e &9 &1 dea 9er w5 #2589 e
fefad |

What is a salenoid ? Draw a diagram to show the magnetic field lines around a
current carrying solenoid. Mention two ways to increase the strength of the
field of a solenoid.

lsﬁ’/ ueAl 3R i o 9 e w9 s T TEd |

List in tabular form, three differences between arteries and veins.

16. % ey BHE & werd fafiEd | 9 fafis ver & uey e & AW fafed)

State the functions of plant hormones ? Name four different types of plant
hormones.
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_l?,p?"‘[a} A=l 9= &1 Grgaras (99 TR +7 3390 JmifEa ®ifad - FiEsmmE, 3

e

(b) W= 7= F 389 9Wi & = fafes
(i) TS oA U WA
(i) =@l ® gE o fagm edm = it 9

ia) Draw the structure of neuron and label cell body and axon.

(b) MName the part of neuron :
(i) Where information is acquired
(i1} through which information travels as an electrical impulse.

186" arEris Ha= &1 faara o saat = fafy or TmifEa sraen fos gm aeeEd | 3
Explain the principle and working of a biogas plant using a labelled schematic
diagram.

Mmmaﬁm@taﬁﬁmmuﬂaﬁﬁmmm%?mﬁ 3
Sl W T w1 B S Hregan ke |

Explain ocean - thermal energy and how can it be harnessd. Mention any two
limitations in obtaining the energy from the oceans ?

7@

(b}

()

(if)
()

= T =1 e F F fow wee fofs & wam 507 3= see 5
B WHEE |

(iy == fwanie ugsi & siedee

(i) =g framie agsl & AiFes |

(iii) =t frareia Jgel & AFEEe |

U X 3R Fe, 05 & 9 €1 arelt sifufir seafvs ssme € oK 3 =

=1 w=fE #1 9er & ol wam e e )

(i) WX F R @R T afufE = A fatad )

(i) 39 YT F Fe,0 % w1y stfufiran 1w fatad |

Which method will you use to reduce the following ? Explain by giving
a suitable example.

(1) Oxides of less reactive metals

(ii) Oxides of moderately reactive metals

(1)  Omxides of highly reactive metals

The reacton between metal ‘X" and Fe:0: is highly exothermic and is
used to join railway tracks.

(i) Identify metal "X’ and name the reaction
(i)  Write the chemical equation of its reaction with Fe;03
¥ET £ OR

Hifeam (11), SEEEA (8), FARMA (17) 3R AIEEH (12) F1 TR

T Tifad | [Fres | 2 T 9E o F WA §em 8] #R NaO
A MgO 1 Tmivr serail & T § FHeEd |

T A o ufeem eTEAl % A fofad |

Write the electron - dot structures for sodium(11) , oxygen (8),

chlorine (17) and Magnesium (12) [Number given in parenthesis atomic
number of element | Show the formation of Na:0 and MgO by the

transfer of electrons.
Name the ions present in these compounds ?
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_}1/1r% A A TrEaEr # AU A wEe e avA B Fe O F 2EE 2 30

T 1 =1 % E W AR T A T F 0 9 e ufEed A 2 B At
1 &1 wfuw 7o 94 & 9 A e S 2 digfen TemfAE wErsl #1 wEEd 8
3 [l uitada] =1 7EEEa |

A student dropped few pieces of marble in dilute hydrochlonic acid, contained

in a test - tube. The evolved gas was then passed through lime water.
What change would be observed in lime water ?
What will happen if excess of gas is passed through lime water ?

With the help of balanced chemical equations for all the changes explain the
observations.

HYIET ~ OR
(a)  di= fa@EAl A, B, C, D ¥R E =1 widfys guw gm wham fea man e
31$1pHﬂ'ﬁ4,1,]],?3ﬁIGW§a?| 30 8 =1 7 faeaq
(iy  FT|EA (i) WA AW (i) WA 3
(iv) gAe e (v) gHE MR R
37 famaal 31 H-3193 Fi 32 O § syaie Fiied |
(by 7= w9 99 I e &R e = am fafed
(i) Hifeay wfaez
(i) T sEREe
Jaf)/ Five solutions A, B, C, D and E when tested with universal indicator
showed pH as 4,1, 11, 7 and 9 respectively. Which solutions is :
(i) neutral
(ii) strongly alkaline
(iif)  strongly acidic
(1v) weakly acidic and
(v) weakly alkaline

Arrange the solutions in increasing order of H-ion concentration
ﬁ Name the acid and base from which the following salts have been

formed.
(i) Sodium acetate
(ii) Ammonium chloride
fedl gu uftay & Fre=1 =61 30 e
B
A AAAAANA A C
40 LN
4
BN T
- 80 {} 80
o
L

(a)  ww" H {28 § () % = wiGiHHi H geg wieud |
(b} 40 F wirigs F varfed 9w

(c) 40 % wfotys F fod & fwarm

(d) 40 F ufwgE H =9 vl

(6)  SHRTA,; 2R A, % Trgainl # &= |

wn
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Find out the following in the electric circuit given in the figure.

A AARAANY ﬁ c

.+-
BN T
Fan

e i
@-1—

4101 +"-..H"—

Effective resistance of bwo 8 0 resistors in the combination
Current flowing through 4 {1 resistor
Potential difference across 4 {2 resisior
Power dissipated in 4 () resistor
Difference in readings of ammeter A, and A; if any
3FEdn S OR

a1 = frgg fafad

i % Fran ¥ v & forg faga uftoy =mmsd | um efn e & 914
Wi M UTE &1 29Ed |

U Fa de S ol Sm A4 A U T @ 79 39 il & o faver
60V &1 fz fasamt |ge 120 V &t fem e @ 7e farat um wm 2
Tieher ifad |

State ohm’s law.
Draw a circuit diagram for the verification of Ohm'’s law.

The potential difference between the terminals of an electric heater 1s
60 V when it draws current of 4 A from the source. What current will

the heater draw if the potential difference is inc reased o 120 V.

J/r’r‘mmaﬂaﬂﬁaﬁﬁﬂﬁ

(if)

ﬁ?ﬁﬁmmmmaﬁnwmmaﬂﬁﬁaw%ﬁm

et = © 9 2 faen § wanten ww ¥ fow wwm grawg £ i foun 9

i & faw

=5 Frem =1 90 d91 fam fafed st geEa o gl 98 uwEE =SEs
¥ I i Tt &% 1w T w0 % fag vgE A 1 3 e

B Oug & fag fom o seEd

Describe briefly an activity to:

demonstrate the pattern of magnetic field lines around a straight

current carrying conductor and

find the direction of magnetic field produced for a given direction of

current in the conductor. Name and state the rule to find the direction

of magnetic field around a straight current carrying conductor. Draw a

diagram to explain the same activity.
HYAT ~ OR
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(a) 39 fram @ W qun Fram = fofad faes g wm e = a9 €
(i) ey T O I A F A a8 T3 g
a9 |
(i) U YRETE gOeR o9 F = 3R S0 R A |
(i) U Feel W UF geEwE 49§ aE # w gEE ifE uw
feem
(b)  W-FE&H AN T UHE HAEE | uffes =7ET0 o oY ST
Y- AR § Se #4 SEvdE gl § ?

\Mme and state the rule to determine the direction of a

{i) Force experienced by a current carrying straight conductor

) placed in a magnetic field which is perpendicular to it.

(ii} Magnetic field produced around a current carrying circalar loop.

iii)  Current induced in a coil due to its rotation in a magnetic field.
Mp]ain the function of an earth wire ? Why is it necessary to earth

metallic appliances ?

& _24/(5/(34} e yaud o @ T difed sir s it S 5
(iy 3 (i)  ¥ETE
(i)  TEPH (iv) vaER

(b)  vARTER # wE ARy N g ¥ o agant 1 Froes e e 7

(a) Draw a diagram of human respiratory system and label on it :

(1) larynx (if) trachea
(iii}  lungs {(iv)  bronchi
(b) Why do the walls of the trachea not collapse when there is less air init?
37eET / OR
(@) ety for = e gu fom wifag o gad i e
() BN HER (i) — FEARIERE

(b) 9% S vwed fafad |
(@  oR e R vty gl @ e a sl gern frafi e €2

(a) Draw a diagram to show open stomatal pore and label on it :
(i) guard cells (ii) chloroplast
(b} State two functions of stomalta.
(c) How do guard cells regulate the opening and closing of stomatal pore?

Page 8 of 16




26.

27,

H-a/ SECTION - B

Y weee ¥ frmedll ® T S F WM E AR ol 3 @ dae e ven |
(i) frrzal =1 g0 i fafda S yo-wmn 2 e

(i) qA-drer T S g |

(i) Tereeedl =1 e I witafda €@ e 2 T

(iv)  STeT Ty Wi 1Y ST g

5 @ FE e g €2
(a) (i), (i) (b) (i). (iv)
(€ (i), (i) (d) (i), (iv)

During the experiment of heating of Ferrous sulphate crystals, four students
recorded their observations as :

(i) green colour, of erystals changes to brown black colour

(ii} brownish yellow gas is evolved

(iii)  blue colour of crystals changes to green colour

(iv)  smell of burning sulphur is felt

Which of the above observations are correct ?

(@ () (i) (b) () (iv)
@ (i), (i) Y (i), (iv)
Fi oo F foerm o w1 s Fiw g 1 10 e & AR i 5 e
T 3 FE WA E
() @TE (b) Il W
(c) ¥ WA (d) YT 9
An iron nail is placed in a solution of copper sulphate. The nail is taken out
after 10 minutes. The nail will be found to be covered with
_[a¥” brown deposit (b) black deposit
(c) white deposit (d)  gray deposit
e adEERe &1 T e T wee § o R se O et g9

= F9 T8 S T |

t +1— drops of universal indicator
0

] dilute sodium bicarbonate

ﬁ%ﬁmﬁwmmaﬁ%:
(a) e (b) W (@ AN (d) '@
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28.

29,

A dilute solution of sodium bicarbonate is faken in a test tube and a few drops
of the universal indicator is added to iL.

g +1+— drops of universal indicator

.......

;i dilute sodium bicarbonate

Th;:cnlour observed will be :

(a) blue (b) yellow (c) orange {d) green

us o A fawma X @Ry # pH T i gd@i o wmn % pH a9 3 s e
3 R 8 | e Frewd e ,

(@) X EEsEiE s faee ¥, Y Sifeam megiemse e &

(b) X ufafes e, Y Hifers FEHR faemm

() X difezm FmEre fae 2, y ufafes o 2

(d) X strafaes o €, Y Sifean $Ete e €

A student dips pH papers in solution X and Y and observes that the pH paper
turns blue and orange respectively in them. He infers that :

{a) X is HCl solution, Y is NaOH solution

(b) X is acetic acid, Y is sodium carbonate solution

(c) X is sodium carbonate solution, Y is acetic acid

(d) X is oxalic acid, Y is sodium carbonate solution

TF qrETE foEd NaOH &R zn WeR sffFa s @ € 9@ 395 e F T8 &
STETdT HITeE i e ey st @l

(a) el g9 = el

(b) e ST At | e

() T U At TR <Al €

(d) e W FE g T e <

On bringing a lighted match stick near the mouth of the test - tube in which
NaOH and Zn react :

(a) the matchstick gets extinguished
(b) the matchstick burns faster

9" apopsound is heard
(d) no effect is observed on matchstick
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30.

31.

= ATt 1 11, 111 3R v # fem-fum 1 F faerss g o # (S R e A
e T #) 1| o A § S aeRe s e v % faoe €

'R

111 v
odourless Blue Orange Pale Green
(a) 13RI (b) ISR
(c) MI&RIV (d IRV

Four test tubes containing solution of different colour marked I, 11, IIT and IV
are shown below. The test tubes containing copper sulphate solution and

Ferrous sulphate solution, could be the tubes :

RN

adourless Blue Orange Pale Green
(@) lTandII (b) ITand 11
(¢ Hland IV (" Hand IV

T Tethe 3 faer © T S S S 1 FaE T T U F R 9 e
T 4 -

() Toeme v @ R

(b) T foer wes w1 A S €

(©) fqeram T € Tedl & SR Fie W wa o 79 a1

(d) TR EH FIE T EER WA IH @

An iron nail was kept immersed in aluminium sulphate solution. After about
an hour, it was observed that :

(a) the solution becomes warm

__[bY  the colourless solution changes to light green

(c) the solution remains colourless and no deposition is observed on iron
nail.

(d)  grey coloured deposit form on iron nail.

Page 11 of 16




32,

33.

url it favamm w i = st e & wEm # i en 3 1 11 W A
fevaraT (V) a=n | (1 aamaﬁmm::@rn

Rt

Eﬁﬁﬁrmﬁﬂmﬁqﬁr%‘a’é%:

=T - 111

(a) FEAL (b) =]l
(c) =EAll (d) i E BE

In the experiment on studying the dependence of current (I) on the potential
difference (V), three students 1, II, 11T plotted the following graphs between V
and I. The graph that is likely to be correct is / are :

EAZk

I
Studentu Sf.'udent-ll Student-II1
(a) I only (b) II only
(c) [T only (d) all the three students

ue faem uftaw o Tl wiedas @ warfed @9 el g/ aen g9 ol = 3o
fararm oy e i A e

(a) 2000 (b) 0.024 0} (c) 240 (d) 0.02 £}

The current flowing through a resistor connected in an electric circuit and the
potential difference developed across the ends of it are as show in the
diagrams.

The value of the resistance of the r{'f:istcr ig:
(a) 208 (b) 0.024 0 (c) 240 (d) 0.0z 0
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34. frdt ufedus @ wanfea w37 w9 fodl @ favars & <9 wom A = 1

AEFA T & (A0 98 32 19 8 e

E

|-r‘x+|
),

i

(©
() A (b)

+|||||1— £y
| 1 L

(D)
@ C

The correct set up for studying the dependence of the current on the potential

difference across a resistor is:

R

|"@+|
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43 fed o gfigdi § ufaiivs R, s R, T A= T £ 1

|| —(—
qfige - |

(a) = gfwei F ured s T
(b)  =F R H i wE
()  uitwe 19 uvd FH H S0 E 5ol w9 5
(d)  wfge 1H Fvt wn F sfw i wed w9 1)

In the circuits given below. The resistors R, and R; are connected :

=
Circuit-I Circuit-I1

(a) in parallel in both circuits

(b) in series in both circuits

(c) in parallel in circuit [ and series in circuit II
(d) in series in circuit I and parallel in circuit I
T o1 3 9 wAEE F 40l e ¥ S H e wiaid § w1 % e e e 1

Tl 36 gy [ -

e
I F—)

() Wi g SR e ¥ vy Seete F1wE € e e
(b)  wRrIye i e T ¥ gty R T WEl T Wil w0
() Wi 3N deediex 3F @ & wE 7€ s ™ E

(d) Wi oiR e SHi 1 @ W T S T R

A student set up electric circuit shown here for finding the equivalent
resistance of two resistors in series. In this circuit.
+ e

| WA

(a) resistors have been connected correctly but the voltmeter has been
wrongly connected.

(b} resistors have been connected correctly but the ammeter has been
wrormgly connected.

(c) resistors as well as voltmeter have been wrongly connected.

(d) resistors as well as ammeter have been wrongly connected.

+I||L' s
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37.

38.

39.

T4 fed o oz d e w0 @ i w9 o o EEE T e e wEm
% o wam w5 ® o 9% fomm o o5 % vewmEyeny & A wehe &1 2
HEWEF 51 WAM F A< § TS % SEE A= 99 e Heas ged W
- =hren & ST ?

(a) e r - (b)  waEell

() 13RI ﬁ( 11 SR

Given below is the diagram of a léat partially covered with black paper and
which is to be used in the experiment to show that light is necessary for the
process of photosynthesis. At the end of the experiments, which one of the leaf
parts labelled I, II and Il will become blue - black when dipped in iodine
solution ?

(a) only T (b) I1 only

(e Tand Tm (d) MandIN

‘YT WYY F EU W =1 B EvAEs © 3H WA 4 gEg = IRem 9w
w0 F for =m 49 =1 ofedl =1 wim = afeu 8 s 24 92 99 T T E
(a)  TEL SEY oI wEHCH |

(b) T R R foEd o e T A

(c)  @mst e H)

(d) W E gH A §)

The best result for the experiment that light is necessary for photosynthesis be
yielded by using leaves from a plant kept for over twenty - four hours :

(a) in a pitch dark room

(b) in a dark room with table lamp switched on

(c) outside in the garden
(d) outside in the garden covered by glass

TF Well yER ed U1 1 feeel w1 o= uiew A gaaeE d $Ed W faa 9

(@ et iy, 8, gR FINE 5 1 5w 0 o s €

(b) fTetE Ffwn, 9, 3R S o TdE J ugd @ wed AR
FARERE Bl € 1

() T el gr St fomd 7 Fe 2 € SR 7 TR

(d) 9T P 5 FfvE A TS S T8 e |
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4d).

4].

A well stained leaf peel preparation when focussed under high power of the
microscope would show :
epidermal cells, stomata, guard cells each with one nucleus and many

chloroplasts ;

(b) epidermal cells, stomata, guard cells each with many nuclei and one
chloroplast

(c) stomata and guard cells without nuclei or chloroplasts

(d) stomata but no guard cells or epidermal cells

o1 w1 Hgege iR @ €

(a) vEEAH (b} W HEEm

{c)  ETHTCHSIA (dy IR A

Stomata plays an important role in:

(a) respiration (b) photosynthesis

(c) transpiration [ all of the above

‘yage § CO, % fawem € ' 39w § g Ao | 9§59 999 & 96 R 1
=g A ¢ 0

(a) ST B <lISl T % ST HWAE O, AR CO,H I HL T E

(b)  SiEfE 2 o i o, svEm w A ¥ o fawifaa co, e | v
T @ TEEA g AFeiied T Sl 2

(c) a-if’ﬁ“ Eﬁﬁ EIES CD:F"IEI":T g =7d %I

(d) =i = g @R afg ¥ fay @ w5 e e v

In the experiment ‘To show that COs is given out during respiration’, the water

level in the bent tube rises after sometime because

(a) the germinating seeds consume all the Oz and CO:z in the flask.

(b) the germinating seeds consume all the O; and gives out CO: which is
absorbed by a chemical filled in the small test tube.

(c) CO;z is given out by the germinating seeds.

(d) seeds need water for germination and grow.

“vae § CO, Tmifad B 2 T wam H v ¥ oy gl Wl H o 1
A E

(a)  UEwE (b) KOH

(€0 A H I d)  HAEEH = faerE

In the experiment to show that CO; is given out during respiration, the
chemical filled in the small test tube is :

(a) alcohol (b) KOH
() lime water (d) iodine solution
~-00o0-
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